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(2) Labour:

Like land, labour is also a primary factor of protdon. The distinctive feature of the factor of
production, called labour, is that it provides anfam service. It refers to human effect of any
kind—physical and mental— which is directed to pineduction of goods and services. ‘Labour’
is the collective name given to the productive mew embodied in human physical effort, skill,
intellectual powers, etc.

As such, there are different types of labour inmatrying in effort and skill content, and in
particular types of skill content. Thus, like ‘ldnthbour is not homogeneous. The term covers
clerical, managerial and administrative functioasvell as skilled and unskilled manual work.

Land and Labour:

Labour differs from land in an important way. Whisad is a stock, labour is a flow. The term
‘labour’ is used to refer to the flow of labour @ee per unit of time. So labour is perishable. If
we do not make use of today’s labour power, a spordingly large amount is not made
available tomorrow (and in future).

A related, but important point should be notedhiis tontext. The worker sells his services in the
market, but retains his capital (working ability). other words, what is bought and sold is the
service of labour, not labour itself. A firm canrmty and sell labour in the same way that it can
buy land and capital.

Dual Role:

Another important point to note is that labour @& only a factor of production. The supplier of
labour—the worker—is also a consumer. Thus, lalpbays a dual role in a modern economy.
Labour is both the subject and the object of prtidac

This means two things:
(1) That the production of anything requires the oElabour as a factor, and

(2) That almost everything is produced to satisfy heeds of the workers, who are the main
consumers. In fact, any economic activity takesceldao satisfy the consumers. And,
consumption demand provides the business peoptetiatincentive to undertake production.
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Peculiarities of Labour asa Factor:
In examining labour markets, it is important toageise that labour has a number of special
characteristics which distinguish it from ordin@gmmodities.

1. First, labour market transactions are particularly significant for:

First, labour market transactions are particulargynificant for the individual worker. Much of a
person’s life style and relations with other peagdpend on the job he or she does. Furthermore,
the employment of labour involves a continuing paes relationship between employers and
employees, whereas transactions in market for gamelsften brief and impersonal.

2. Labour isan end and meansin itself:
A commodity is only a means of production and thgat of production is its consumption by
labour. Labour, therefore, becomes a means taitsemd.

3. Thirdly, theindividual sells his services but not himself:

The employer, however, must be able to exert soomtra or authority over the actions of
employees. This is not a very simple matter, witiah be covered unambiguously by a contract
of employment. A great deal of energy has beenteevim planning systems for the direction of
employees, and even a brief examination of thee sthtindustrial relations in most countries
shows that still much remains to be done.

4. Labour isinseparable from the labourer:

In other words, labour and the labourer go togetAdren the seller sells a commodity he does
not necessarily go with the commodity. But the labcan supply his labour only when he goes
with it. Moreover, when a seller sells a commodigyparts with it. But when a labourer sells his
labour, he retains the quality with him. He mayngdie satisfaction of his services, but he cannot
be separated from the labour.

5. Fifthly, the individual must be present when the labour services are used and thus a fifth
featureisthat labour servicesare not transferable:

For example, a person who has agreed to carryestdic tasks cannot transfer his services to
someone else to do the work, while he does songettise. This contrasts with commodities
which can be transferred among individuals.
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One consequence of having to ‘deliver’ the servigessonally is that employees have strong
views on how their services should be used. Workiogditions are of central importance to
workers. It also means that workers must live nibair place of work. The location may

significantly affect labour market decisions.

6. Sixthly, labour services cannot be stored:
Labour cannot be ‘saved’ or stored for future usEEhQugh rest may enhance performance to
some extent).

7. Labour is perishable:

A commodity, if it is not disposed off today, caa tisposed off the next day and it may not lose
its value. Labour, however, is perishable in thit tif the labourer is not able to sell his sersice
for a day he cannot get the value for that dais lost forever; it is because of this that labour
has a weak bargaining power.

8. Labour isaffected by surroundings:

A commodity is usually very much affected by itsreunding; a labourer is very much affected
by the surroundings because he is a living beirgrdfore, any change in atmosphere has an
effect on his health feelings etc.

9. The supply of labour isindependent of itsdemand:
In case of most commodities we see that supplyllysearies with demand but in case of labour
its supply is in no way related to demand. Bothdermined by different factors.

10. Finally, labour services are enhanced by training:

Skill acquisition is often a lengthy and costly gees. However, adjustments in the labour
market, such as increasing the supply of a padicskill, often requires a long time. This also
means that individuals do not usually train for entinan one occupation as they only have a
limited working life over which to justify the inggment.

Mobility of Labour:
Themability of labour hastwo aspects:
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(a) The spatial or geographical mobility of labowhich relates to the rate at which workers
move between geographical areas and regions iromespto differences in wages and job
availability (e.g., a worker from West Bengal mayito Mumbai) and

(b) The occupational mobility of labour which raatto the extent to which workers change
occupations or skills in response to differencesvages or job availability (e.g., a jute mill
worker joining a tea garden).

It may apparently seem that labour is the most teatii all factors—both occupationally and
geographically. Workers can move both freely frame andustry to another and from one region
to another.

Reward:

The reward or price that is paid to labour in nettor the services it performs is known as a
wage or salary. A man’s wages are associated wstiproductivity or efficiency and this, in its
turn, depends on a variety of factors includingedacation and job training he has received, his
innate skill and the extent to which he is motidatie put his best effort in the work he is doing.

In general, the supply of labour varies directlfhmvages and compensation. Normally, when
wages are relatively low, increases in wages \witidt to lead to an increase in the supply of
labour. However, as wages continue to rise a stdgmately comes when higher wages
(incomes) make leisure more attractive.

When incomes are relatively high, therefore, highage rates may actually lead to a fall in the
number of hours worked (and, thus, in the amourgalbur offered by an individual worker.)
This is why the supply curve of labour bends bazkhe left and this is often cited as an
important exception to the (empirical) law of suppl



